Opérations avec deux fractions mixtes (E)

Date:

Calculez chaque résultat.

Nom:
1 5% + 3% =
2 2% ~5z =
3 5% + 2% =
4 5% + 2% =
5 5% - 5% =
6 5; X 11—52 =
7 5% - 1% =
8 51% — 5% =
9 5% —2— =
10. 5% X 11—29 =

Note:
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Opérations avec deux fractions mixtes (E) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1 1 11 19 33 19 52 26

Lt Tt T et T 6 T 3 T8
2 2§_5_—é_£—éxi—7_8—§
9 9 3 9717 153 51
1 1 31 5 31 15 46 23
Pt T ety Tt T 65 T3 573
1 1 31 7 31 14 45 15
- 4+2—- = — - = — — = — = — = —
+ Sgt 23 673 = %7% 6 2 7
. go.sl 233 23 6 138 69 7
4 " 4 6 4 731 124 62 62
o 53y -8 17 ed6 323 29
7 12 7 712 84 42 T 42
1 50 4 50 3 150 25 1
Tl = gT3 T X3 T 3% T % T %
o 52 _g2 _ 2 27 _ 9 4 _ S5 _ 1
10 5 10 5 10 10 10 2
21 9 21 9 12 3
i e T
o s2x1Z o723 19 (s
" 73 19 3719 57 19 ~ 19

MathsLibres.com




